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(ii)
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(iv)
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I% J97-T7 g1 GUE] § 19915 &
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GUE @ - YR 3% la@ ‘ ‘

9 J97-T7 H 20 TglaheHiT JhR & Jo7 & | TAF To71 % F1 & |

$F Fv7-97 § 4 TG-IF0T JHR-1 & F97 & | T4% J97 8 37H] H1 & | 37 Fo71 &
3T 60 & 80 Irsg] 7 for@d S =Fifsw |

$G J97-97 7 6 TY-IHIT FFR-II & 97 & | JA%F Fo7 4 3H] F1 & | $7 J94] &
I 80 & 100 71551 H fer@ ST F11eT |

39 J97-97 4 4 F9-3707 FHR & J97 & | Jc4% J97 6 37l H & | §7 FoH] & I
100 & 150 ¥e5] H for@ 5T F8T |

Tl 97 & @4 9T @ IR G GrY [o7@ T =7y |

3G SARE, &I § 1 gheaned gl & /g siel a9 A= 37c ST
Y9 @ TG R TH 3 Jo7 1597 T & | §7 ] & I It gy wien] &

ferd |
Fo7-97 H FI GHI [aheq T&1 & | TeT F& Fo71 4 ARk faweq & Jae a1
T 8 | 37 e 4 8 F9T T & J97 H I 107G 17 |

Eusg <h
. wufte areforme
gay A # feEl Wt gRr A HH Bl BdicHlEd B % AU YR HRR
L} T Tehdl B |
(Teh ol ot 9 & T @&t fashew &1 =@ i) 1
(A) W, wH B) faw W g, afg
(C) TR =39, Al (D) L h G, HHl
@ g ATfART hl T i o (1T Tl Toehed 1 == hHIIT 1
T 47 FT STRIErT 1fer
(90%) | S (10%)
| 2000 1800 200
II (). ...(11)... 180
N LG | G 2000
fereped
(A) 2000, 1620, 20000, 18000 (B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000 (D) 1800, 1620, 20000, 18000
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General Instructions :
Read the following instructions carefully and follow them :

()
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
In order to discourage any fall in Aggregate Demand, the Government of

India may the .
(Choose the correct alternative to fill in the blanks) 1
(A) decrease, repo rate (B) increase, reverse repo rate
(C) decrease, government expenditure (D) decrease, tax rate
Choose the correct alternative to complete the given schedule : 1
Round Deposits Loans Reserve Ratio
(90%) (10%)
I 2000 1800 200
I1 (1) ... 180
Total ...(1il) .. (V) L 2000
Alternatives :
(A) 2000, 1620, 20000, 18000 (B) 1800, 180, 2000, 18000
(C) 1620, 180, 2000, 18000 (D) 1800, 1620, 20000, 18000

13-58/3/3 P.T.O.
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3. i I # fgu 1 el @ i 11 ¥ U U Fafd Seg) o a1 Tt I hi
g hINT :

HicTH I Hic7H 11

1. | forcert & fersft Tsg © UMNA &R (1) | gHe T

2. | facsft qgreti < goprect T A ggr o6 | (D) | aeE
qod | hHl I TR i ifd

3. | Torelt Tsg o v Tt o e s & | (i) | T dge
HET 3T

4. | faceh gz X fgifa @ ® @R &1 | (v) | 999 o g ot
THAT JTTEeRR

foreped

A 1-@0) B)  2-—Gi)

(C) 33— (i) D) 4->GaGv)

4. ffafea sl o emyEs ufeu

FI71: A H qlEdd (AY) & G99 § 399 ¥ giEd (AC) I fom et &
IO ITANT 56 Teh e 1@T BT # |

HIT2: IUAN 9 I o T YNEdd hl HHG @ I AEd U9 T
(APC) % &9 ¥ qfwriog foram w2 |

feu T At & I H, g § @ w@t foehew 1 = i

(A)  HIT 19T g 3 hd 2 379 2 |

(B) YT 13EI L IN FAT2TT 2 |
(C) HIT 13N 23 T B |
(D) <heH 1 3T 2 aFl 319 & |
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3. Identify the correct pair of statements given in Column I with the related
terms in Column II : 1
Column 1 Column I1

1. | Remittances from abroad to the nation | (i) | Accommodating
Transaction

2. | Government’s policy of decreasing the (ii) | Devaluation
value of the nation’s currency against
foreign currencies

3. | Difference between visible exports and | (iii) | Balance of Payments
visible imports of a nation

4. | Government as sole authority of (iv) | Flexible Exchange
determining foreign exchange rates Rate System
Alternatives :
A 1-3) B) 2 (i)
(C) 3 - (i) (D) 4->Gv)
4. Read the following statements carefully : 1

Statement 1 : Constant rate of change of consumption (AC) with respect
to change in income (AY), is the reason for the straight
line consumption curve.

Statement 2 : Marginal rate of change between consumption and income
is defined as Average Propensity to Consume (APC).

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

13-58/3/3 P.T.O.
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5. Tmafaied saql &1 gfeq @ 31fieped (A) 3R &R0 (R) | = few o faepedt o
U gt faemey &1 ==A hifvu

STYHIT (A) : Tlihd AR T h! fedfd ®, T Usg 1 16 QT AR
H gl gohdl 7 |

HRU(R):  Tordll g 1 Traa sgea wifewal, fae oo wifcaa & sifess &t
ehd! & |

ey

(A)  ITYHI (A) 3 SR (R) HT T & JT HROT (R), AR (A) HI
g TS HLAT 7 |

(B) AR (A) 3R HRUT (R) AT IcF &, Wiohd SR (R), AMMHAT (A)
) T AT TFT HaT B |

(C) 3P (A) T 7, Wlhd HRUT (R) JIEH 7 |

(D) 3T (A) ITET B, Afehd SR (R) TF 7 |

6. Trafaflga ®uai =1 qfen : sifisped (A) 3R ®rw (R) | Fi= feu 7w foepedt
4 gt faeey &1 =4 HifSu .
SHHIT (A) : <o €4 8 ST o F&FH Ak BId 7, N F=fAd ASGH &
W H HH  FTPP T4l B |
HRU(R): TS o U USHTR TR T A= s I Bt 2 |
IEETCIE

(A)  AMHAT (A) 3 FHROT (R) T T & 3 SR (R), IR (A) I
g ST KT 7 |

(B) 3T (A) W SR (R) AT TcT 8, Afehd Il (R), MWHAT (A)
<) TE =T Tg@ war g |

(C) IR (A) T 3, Wfhd HRUT (R) I8 3 |
(D) AR (A) 3T 8, Afhd SR (R) T 7 |
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5. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : In case of an unfavourable Balance of Trade, the Current

Account of the nation may be in surplus.

Reason (R): Net invisible receipts of a nation can exceed the Net

visible receipts.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

6. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : Voluntarily unemployed people are those able bodied
people who are not willing to work at the prevailing wage
rate.

Reason (R): There exists zero involuntary unemployment at full
employment level of equilibrium.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13-58/3/3 P.T.O.
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7. U foh U AdeaEr & Hew d fyffad § @ H-A1 Y @ T B | 1
(A) Thd TSR 3G (GNP) 1 Tohed B 394G (GDP) W Afeshal HYd
g |
(B) Hhd W 391G (GDP) i ol TSI 3G (GNP) T ATe=hdl TH
g |
(C) Uhd TN IS (GNP) G Hohed el 3cUTE (GDP) H FUHAT 99d
3 |
(D) ¥Hhd U™ 3@E (GNP) T Tha =q 3cd1g (GDP) &1 I dcd
I (0) % S BT & |
8.  forelt srefozazen # whifaerrilt sTatel 9@ Iufedrd BT &, T quf USHTR & W
B | (Feh T W & e w&t fashed 1 == i) 1

(A) STl HY AN > GTfd T8 A1
(B) dWfaeh THY AT < AT S8 AT
(C) dSTEdfdes 8T | < GUTferd T8 AT
(D) drdfaeh THY AT = GUTferd HU [

9. 19 W%, 2023 W I WA & & (RBI) % HITEThA I o FIER
“qTed o1 forgelt a1 wer (STRfard) mar el dedrg H IfgH™ g1 @ 991 98
$ 600 3T o ITIATHA TR % il Tgd T 3§ |7

37 feufa IRa & Y gged @ & Rt
Haft | (T=F Tl o Y & T &t fomhey &1 =@ i) 1
(A) hise, Ihg (B) shise,
(C) Sfee, = (D) efwe, 3fg
10. T=feiRad seAi w1 eaHgE® qfeu : 1

Ho71: AT U 9 gr@ Fmio ufshan # skomcheh (SIhH) T99 BT 7 |

FY72: Tt tfcuawen &1 @ d @ Ao gk & fREor &
TExaqul i T B |

feu U el & I °, =faiad # 4 @l faehed o1 ==H hifviw

(A) T 19T 3 AN HIT 230 8 |

(B) U 130T 2 MM FA 2T 2 |

(C) YT 13 2gHI TcF % |

(D) Y 13 2 gHT WA 7 |

13-58/3/3
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Identify which of the following statements is incorrect with reference to

an economy.

(A) Excess of Gross National Product (GNP) over Gross Domestic
Product (GDP) is possible.

(B) Excess of Gross Domestic Product (GDP) over Gross National
Product (GNP) is possible.

(C) Equality between Gross National Product (GNP) and Gross
Domestic Product (GDP) is possible.

(D)  Sum of Gross National Product (GNP) and Gross Domestic Product
(GDP) is always equal to zero (0).

Inflationary gap in an economy may exist when at full
employment level. (Choose the correct alternative to fill in the blank)

(A)  Actual Aggregate Demand > Potential Aggregate Demand
(B)  Actual Aggregate Demand < Potential Aggregate Demand
(C)  Actual Aggregate Demand < Potential Aggregate Demand
(D)  Actual Aggregate Demand = Potential Aggregate Demand

According to the Reserve Bank of India’s (RBI’s) Statistical Supplement
released on 19th May, 2023 :

“India’s foreign exchange reserves grew for the third straight week and
reached near an approximate level of $ 600 billion.”

The above situation will the side of Balance of
Payments account of India.

(Choose the correct alternative to fill in the blanks)
(A) Increase, Credit (B)  Decrease, Credit
(C)  Decrease, Debit (D) Increase, Debit

Read the following statements carefully :

Statement 1: Reserve ratio and Credit creation process are inversely
related.

Statement 2 : Central Bank of an economy performs the vital function of
controlling the credit creation process.

In light of the given statements, choose the correct alternative from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
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() fouw Tu Srferel & SMUR W, TT I & ool i AThe HITT
ULl

e i (= T

(i) TR 3tfem 3qanT = 110
(ii) fsft stfom 3uw = 200
(iii) | Tha =9 feor g5t fmfo 30
(iv) | Ta« f=fa (-) 40
(v) i | g 20
(vi) | TRl gSi w1 394 15
(vii) | 3TocTeT 60
(viii) | 39qH 15
(ix) | faesn & 9T 3g R 3 (=) 40

HAYAT
(@) Weu afda fafa gra Tsd 3T 1 STgAE T d T99 &IH W AW aTett

Torgl i1 graar==l 1 Ieaig hifve |

fereht Treg <A1 forgRht ggT <1 91 1 Ta& 9 ¥ Y9G S e foheal Q1 el

&1 faa=man hifsu |

(%) Uh HIcqep AT & oL, THR T 5,000 FHUS w1 Al FHaw
=T HA 2 | 98 I g fh Hiwia s=a ygia (MPS) T 20%
JAAH TR G Mef q T g, HHE s=d g (MPS) # 39 fimae %
HRUT 3T | IREd T 3TTHH sy |

(@) e e & 3 forfReaw |

foreht fg-grren sTefeyaee § 9WH qfd & QI Tl i IR € Sl HifT |

(%) “wrda ford S (RBI) g1 gl WIWR H HeleH (Open market
%peratlons) srefeaedn ® ggr gfd i fafEfa & § g o
|”
A= ehi Afgd feU TT S i firg i |

HAAT
(@) fordt Tsg & Fgl o & ‘Sl o Sk I i faEdR & =aren iy |

13-58/3/3 Page 10
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11. (a) On the basis of the given data, estimate the value of National

Income : 3
Amount
S. No. Items ,
(in T crore)
(i) Government Final Consumption Expenditure 110
(i1) Private Final Consumption Expenditure 200
(iii) Gross Domestic Fixed Capital Formation 30
(iv) Net Exports (=) 40
(v) Increase in Stock 20
(vi) Consumption of Fixed Capital 15
(vii) Indirect Taxes 60
(viii) | Subsidies 15
(ix) Net Factor Income from Abroad (-) 40
OR
(b)  State any three precautions to be taken while estimating national
income by Value Added method. 3

12. Discuss any two factors which directly affect the demand for foreign

exchange of a nation. 3

13. (a) For a hypothetical economy, the government incurs an additional
investment expenditure of ¥ 5,000 crore. Assuming that the

Marginal Propensity to Save (MPS) becomes half from its present
level of 20%, estimate the change in income due to this fall in
Marginal Propensity to Save (MPS).

(b)  State the meaning of autonomous investment. 1

14. Elaborate the two components of Aggregate Supply in a
two-sector economy. 4

15. (a) “Open market operations by Reserve Bank of India (RBI) help in
regulating money supply in the economy.”

Justify the given statement with valid arguments. 4
OR
(b) Elaborate the “Bankers’ Bank” function of the Central Bank of a
nation. 4

13-58/3/3 Page 11 P.T.O.
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16. (&) (1) Th fg-2meh dyaen ¥ A & TEhig YA hl AGYRON i
ST ST |
(i) “forelt STeleuaEen ® Hohdl W 3G (GDP) 9 &l Hed afdd
(GVA) =T I Hed s 8id & |7
A= dehl 9fed feu U sed i fag hifve |

AT

(@) () ““%a W I9E (GDP) ki ardids GDP 3 Hifgsh
GDP % 3TUTd gRI gt S & |7

T T TeU U A9 ¥ TgHd & ? Ush hicH-eh TEIIcHS ICTE]
g AT Tqohl g 37T I <hl gfse HifrT |

(i) ‘grafd 9 IUHar ¥ 3 1 379 Jaqry |

17. (%) <% I % YR W, H=lRad o Jodi Sl T0HT HIMT

(i)  TSThINR =
(i)  Srafes =rer
#.9. e T
(T #3 7)
(i) IS =2 60
(i) | Tt grfeaat 50
(111) TSTET 1T 55
(iv) SIS WA 20
(v) TR o YSITd Wt | rorea Tt
bl 50%

(@) drEdH® a&gedt & fohegl al IS h1 Ieoig hHINT |

() ‘Gresies IEYH 9 G e § 3T T I |

13-58/3/3 Page 12
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(b)

17. (a)
(b)
(c)
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Explain the concept of circular flow of income in a two-sector
economy.

“Gross Domestic Product (GDP) and sum of Gross Value
Added (GVA) in an economy are always equal.”

Justify the given statement with valid arguments.

OR

“Gross Domestic Product (GDP) Deflator is represented by the
ratio of Real GDP and Nominal GDP.”

Do you agree with the given statement ? Justify your answer
with valid arguments and a hypothetical numerical example.

State the meaning of ‘Income from Property and
Entrepreneurship’.

On the basis of the given information, calculate the values of the

following :
(i)  Fiscal Deficit
(i1) Primary Deficit
Amount
S. No. Items (in = crores)
i) Capital Expenditure 60
(i1) Revenue Receipts 50
(iii) | Revenue Deficit 55
(iv) Interest Payments 20
(v) Non-Debt Creating Capital 50% of Revenue
Receipts Receipts

State any two examples of public goods.

Distinguish between ‘Public Provision’ and ‘Public Production’.

Page 13
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18. fafafaa sedi ol ufey : s1fimem (A) 3R &rw (R) | Fi9 few 7w faemeut o

o weEl

fareheg 1 == hIfTT

STYHYT (A) : ARG TR g 8 TR, 2016 i I a1 L (GST) T

Toram TR o |

HRUT(R):  GST WA § Thihd TG HL JUME I AN HH & 0T

AT AT AT |

ferehed

(A)

(B)

()
(D)

AMHAT (A) 3 SO (R) THT I § 3 ST (R), AR (A)
e AT Ll B |

AR (A) 3 SR (R) T T &, Afehd Il (R), TR (A)
1 T RS FgT AT B |

AR (A) I 7, AT R (R) I8 3 |
AT (A) 3 B, b RO (R) TF 7 |

19. v {6 F=faRaa & & #19 G20 1 gee s 787 7 |

(A) I (B)  sriegferan
(C) s (D) SFdATeH
20. U fafyse ®wHA & ded fafte R il wadl 1 3cuted e
fafaeftentor g 2 |
(Teh T W & forw @&t fashed o1 === hifs)
(A) & e (B) TSR &T=H1
(C) (D) ATEfireh Seqred
21. Ygun+u for F=fafgd @ @ sH-91 A9 foshm@ dehas (HDI) &7 2 |
(A) I % qHI Sfad g (B) O%h HIEHAT G
(C) HYg I X (D)  SRISATRY
13-58/3/3
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SECTION B

Indian Economic Development

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below : 1

Assertion (A) : Goods and Services Tax (GST) was implemented by the

Government of India on 8t! November, 2016.

Reason (R): GST was introduced to implement a unified indirect tax
system in India.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Identify which of the following is not a member nation of G20. 1
(A) Argentina (B) Australia
(C) Brazil (D) Bangladesh

Production of varied forms of crops against one specialised crop is called
diversification of

(Choose the correct alternative to fill in the blank) 1
(A)  sectoral occupation (B) employment structure

(C)  crops (D)  industrial production

Identify which of the following is not a Human Development Indicator

(HDID). 1
(A) Life Expectancy at Birth (B)  Adult Literacy Rate
(C) Maternal Mortality Rate (D)  Unemployment

13-58/3/3 Page 15 P.T.O.
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22, fmfcfaa el 1 eIHyds afeu 1
FY71: WHd fgm@ 3@ foem w snafia g T fSiem 9 @y ag e
& e 37 B |

FH972: HHD Ysit G I Tohell T1ET h1 TIIed 1 G18- AT 7 |
feu U St & Sttt ®, Fr=faiRga § @ @& faemew o1 =wm il
(A) T 19T 3 AN HIT 230 8 |

(B) ohUF 130T 8 AN FAT 20T 7 |

(C) YT 13N 2THI TcF 7 |

(D) A 13N 2 gHT 3FET & |

23. = fou MU SAfhsi o MYUR W, bl W 391G (GDP) i a1fveh Jhg (%)

ey U H@eg HYT hl IgAH i 1
Hehe! T{E] 3cUTE | a1 ghg (%), 1980 — 2017
97 1980 -90 | 2015-2017
AR 5-7 7-3
- 10-3 6-8
qfehea™ 6-3 5-3
ICETE I
(A) q%ﬁ\;wm T = A 2015 —2017 & A faem @ # fiR@Ee &1 3va
o |

(B) =M 9 1980 — 1990 H 2rgt 37ehl <l Taehr@ <X griera <l off |
() 2015—2017a%aaf€1ﬁwﬁGppaﬁn%mmﬁésﬁaﬁzﬁ|
(D) 1980 — 2017 & A GDP  HTHc H YIfehed™ 9 8 A1 T |

24, fafafiga sl =1 gfen : Ifiped (A) 3R %R (R) | = feu v foepedi @
4 "t faeme &1 ==A hifvu 1
35HT (A) : Tolee A o A HY & &I €9 8 WRA 6 &7 e H1
AT AT |
HRU(R):  Fcis H TN o foohrd o Toru, foifeer smdeh wRd iy 3carg
SAferehdH AT ISHT =Mgd 9 |
IEETg

(A)  AMHAT (A) 3 FHROT (R) THT T & 3 RO (R), TR (A)
& ST KT 8 |

(B) 3o (A) 3T RO (R) HI T &, Afehd SRl (R), MR (A)
F &l AR 7T H B |

(C) 3T (A) T 7, Wihd HRUT (R) T 7 |

(D) 3T (A) ITHT 7, Afehd SR (R) TF 7 |

13-58/3/3 Page 16
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Read the following statements carefully : 1
Statement 1 : Human development is based on the idea that education
and health are integral to human well-being.
Statement 2 : Human capital treats humans as a means to an end.
In light of the given statements, choose the correct alternative from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

On the basis of the data given below, identify the incorrect statement
with reference to annual growth of GDP (%) : 1

Annual Growth of Gross Domestic Product (%), 1980 - 2017

Country 1980 -90 | 2015 -2017

India 5-7 7-3
China 10-3 6-8
Pakistan 6-3 5-3

Alternatives :

(A) Pakistan and China experienced a fall in growth rate during
2015 - 2017.

(B) China achieved double-digit growth rate in 1980 — 1990.
(C)  GDP of India accelerated moderately in 2015 — 2017 period.
(D) Pakistan was ahead of India during 1980 — 2017 in terms of GDP.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : The agricultural sector under the British rule was
primarily the base of the sectoral growth of India.

Reason (R): British rulers wanted to take maximum advantage of the
Indian agricultural output, for growth of industries in
England.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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25. YgAI-U fop =it 3refegewen & ged § ffafiaa & @ w199 fawew gdl 787
8 : 1
(i) 1958 H, HELAT hl €A1 g5 o |
(i)  fogeft &= #, fomiv a7féfe &= (Special Economic Zones) ¥TfUd T 9 |
(i) g EaTEey glagrani 4 = H gog o H HHl I o |
foree
(A) ()3 (i)

(B) (i) 3T (iii)
C) (1), (i) N (iii)
D) () AR (iid)

26. T=faRad # ¥ wH-w1/9 i HY IR 1 3899 787 3/8 2 1
(i) I % T ToquM o gHAE S § GUR i o foTT gaicansd e |

(ii)  SHhI hl Ik IcUTGl I FaAH Hod fea™ o fofw fouom yoreft i
A I JHTET ST |

(iii) TRl I ITeh! TSI I AAT F TUEAl H IR i o T garcaTiad
T |

farehe -

(A) () AR (i)
(B) (i) 3R (iii)
(C)  ad (i)
(D) had (ii)
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25. Identify which of the following alternatives are not true with reference to

the Chinese economy :
(1) In 1958, communes were established.
(i1))  In the foreign sector, Special Economic Zones (SEZ) were set up.
(iii)  Better health facilities reduced mortality rate in China.
Alternatives :
(A) (1) and (ii)
(B)  (ii) and (iii)
(C) (), (i1) and (ii1)
(D) (1) and (iii)
26. Which of the following is/are not an objective of regulated agricultural
market ?

(1)

To discourage improvement of marketing infrastructure for

farmers.

(i1)) To make marketing systems efficient and effective for farmers to
get best price for their products.

(iii) To discourage farmers to improve the quantity and quality of their
produce.

Alternatives :

(A) () and (iii)

(B) (i) and (iii)

(C) () only

(D) (i) only
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27. T=fefad wemi = ermygde ufe : 1
HY71: SN &F T GHFAT Dl Wealdd HH & forw g Hi ifesman =i
et aweerd Afct 5 | weh Aifd off |
HY72: TIAAA A AU H Y-FUN o TROTHEIET FHIGR! TAT 1 AT
BT AT |

feu U oAt & 3mentes A, ffafaa o @ w& fashew 1 ==m hifse
(A) o 19 3 AR HIH 2 3HA 7 |

(B) h 1378 g I HA 2T 7 |

(C) YT 13M 2T A& |

(D) 9 13 2THI 3HA & |

28. “uma #, Ted e Hfifa 2020 ° rerent & TeTHeia Afdtenr W TS T
ﬁZITTP:IT% l”

(i) 39U SeH H 3@ AHa S FE0 (HCF) % @i hl 989 i | 1
(i) NG @ 371 faem™ W 3@ @id & I q9El bl fear 8 =3
i | 2
29. (%) 1950-1990 I AT & S YRR A & A fhedl 3 g
feryarent <At ==t hifse | 3
HAAAT

(@) 1995 ¥ fava SAMR TT (WTO) & TITIAT o fohedl g 391 &1 avia
I | 3
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27. Read the following statements carefully : 1

Statement 1: Land ceiling was one of the Government policies to

promote equity in the agriculture sector.

Statement 2 : Land reforms resulted in abolition of the Zamindari

system in the post independence period.

In light of the given statements, choose the correct alternative from the

following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

28. “In India, National Education Policy 2020 has stressed a lot on in-service
training of the teachers.”

(1) Identify the source of Human Capital Formation (HCF) indicated
in the aforesaid statement. 1

(ii))  Elaborate the likely impacts of this source on the economic
development of India. 2

29. (a) Discuss any two salient features of Indian industrial sector during

the period of 1950 — 1990. 3

OR

(b)  Describe any two purposes for the founding of World Trade

Organisation (WTO) in 1995. 3
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30. Teu Tu Afhel W, "ha oI IfUd (GVA) § 9Rd 9 = & & IngH i

T 9 fegeiwor ST |
2018 - 2019 ¥ UTHTR TS Fhed e d AT (%) h &F IR
gHA goT FlElT T TGTT PIISTT BT [T
397 YR T | weEdH | YRa TT | G
Eat| 16 7 24 43 26 41
JEM 30 41 19 25 28 24
LEll 54 52 57 32 46 35
T 100 100 100 100 100 100

31. feu wu fo 1 saHgE® I1eEH HifT

oo 4 cwiis 78 ufifeufa i gg=m hifu 9o yrd steferesen W Hehfda
fefa = gura =1 garma i | 4

BNy s o 3 ' 3 g - s
. - : - - -
- % S o - ‘ -
r R 1 ~
i ¥ 3 A o~ B |
2 % J : \ b o «
3 >
e # 2 3 {
¢ ”~

a . b -

i : HHIEd 397 #aci FRafad ahentaal & c7¢ 397 G971 31 & € R & /|
“IHIT &5k o SoI, AT &5k H TSR 1 goi- 3Terds 7 |7 fou
T e i gfse T | 4
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From the given data, compare and analyse India and China’s sectoral
contribution towards Gross Value Added (GVA).

Sectoral Share of Employment and GVA (%) in 2018 - 2019

Contribution to GVA Distribution of Workforce
Sector
India China | Pakistan India China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

31. Study the given image carefully :

Identify the situation depicted in the image and suggest the impact of the
indicated situation in the Indian economy. 4

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 31.

“It is necessary to generate employment in the formal sector rather than
in the informal sector.” Justify the given statement. 4
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32. (&) Y dehl g Ieai@ a AR hifoe fop Ffeifaa sem oy 2 a1 sy .

(i) ¥ b, 9Rd TR A o< d@meHt % $I@ad A6 o o

-4 AT S8 g el SheH 33T 3 | 2
(i) T wRd # RO Sycsudl W dgshrl wfufeat weweqel i
Tt 3 | 2
HAYAT
(@) () Abe — FTTEEAT UM I IR hIRTT qem 3geh! ITNTAT 1
Ui T |

(i) ‘Tood SR &1 319 FawsT |

33. (%) () “ToaFar IWG hl JAY § 9YRA i agE =R Aifd (inward
looking trade policy) & faftm 2w g M2E @« g

r=a1 guefa fear mam o |7
1 79 fGU 7T oM § Heud § ? 99 Tohl g 30 IR hl gfsd
1T |

i) T ifd @ T &3 % ITHAT (PSU) & W@, YR
i JicaTad i d foI=em 1 ST o H a1 g5 8 |7
T TSRl & g1y fou T sheq w1 3ifacy fag Hifse |

AT

@) () “S 59 % q 9B qd 8 — PN IUCH W I8 Ht WH &
IS IR & |7
FY IUeH IR T & v T faue 7 - Tt afed fGu M Hem
i gfee S |

(i)  “CO9 8T T ITANT URd 3 fsreq & g Tomnt o 9 ° R
Sar ot |7

A= deht g0 feu U sheq Rl g hifvie |
13-58/3/3 Page 24
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State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken crucial
steps, like Jan-Dhan Yojana, for efficient allocation of

financial resources. 2

(ii)  Cooperatives play a vital role in the credit availability in rural

India. 2

OR
(1) Define worker — population ratio and describe its usefulness. 3
(i1)  State the meaning of ‘Disguised Unemployment’. 1

(1) “India’s inward looking trade policy during the post
independence period was well supported by various tariff and

non-tariff barriers.”

Do you agree with the given statement ? Justify your answer

with valid arguments. 3

(ii))  “Navratna policy has facilitated the maintenance, promotion
and disinvestment of Public Sector Undertakings (PSUs).”

Justify the given statement with valid explanation. 3

OR

(i) “Every coin has two sides — debate over farm subsidies is one
such a classic example of the same.”
Justify the given statement with two arguments each in

favour of and against the continuation of the farm subsidies. 3

(ii)) “Suez Canal was used as a highway between India and

Britain.”

Justify the given statement with valid arguments. 3

Page 25 P.T.O.



34.

myE ™ collegebatch con

=
=5

freafefaa mr # ergEes afen

g fovd H S8l @qd foehE i et 9gd 9l fodie @, g forepr@ qen

3G I 3cFs UHl g HEwaqUl ATIROMNT & eh! STTHAR T Teh A1 ==t h

ST 8 | ¥ STGERUMY gt o Aias o foiw SAfageesia 8, ®ifh 31 W

Teh 1A h1H hleh, 8 319 U qu1 314 arell difedi o fw we s1feres Tomht

wyfersar st fomfor T wehd 2 |

B fopra 3@ anfdfes e 1 wehifa wtar § S waiawofia gwe &1 0 &6

% Tl ¥ FEUA b M g,” &fh, “Sg Y e UHgRd =i h

qHIST 3casH o IS 8 UH Icdsid ol §H o 1 Gqe ITed i shi

feafa g 17

THIT STTYRMAT o o= Toh WSled 9994 HISG &

(1) gNa faem g 19 IESH &l & HH § G886 &, i qg T3
3cHS ITed A & AU 31avass 2 |

2) &ia foemm NeiEr 3= @ 4 9 nfde fawm & Wz w6 o
TR 7, Sl ¢ o I g I e etk § femr =1 3tfee
fr®rdt 9T o HEraAT S HehdT 7 |

Teh TS 3 GHI hIehi ol Th A1 Jhg < o fTT 950 8 H Tl 7, 9

(%) Rl Sert @rdr 4 A, S Fgea i #1 3cdTed T8 Hd § |

(@) 1 HIA U I TIET S8 FHATH 3T 3T TH ITRLT I Sl hl
QYT ! HH HH H AGE L Thd 3 |

() uftgg fi Aeal § ufgds S Ug T, AEfhd ST 9 BT
Y& 1 ITANT HEAT, Fifh T T B o [T FAT-hle oo Tl
e 2 |

feu U e 9 AW FE % R w, Efafea g % s G

(i)  gNa foe™ 9 I[g I IcsH i 7Y AT |

(i) BRa fam 3R Ig Y Icas o o9 Faday W Hag § == it |

(i) 3G I e I TcHIed i arct Fhel Th R I AT TS
i |
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Read the following text carefully :

In the contemporary world with a lot of sustainable development
concerns, green growth and net zero emissions are two important
concepts which are generally discussed together. These two concepts are
essential for the future of the Earth, as by working together on them we
can create a more sustainable future for ourselves and for the

generations to come.

Green growth refers to, “the economic growth that is achieved in a way
that minimizes environmental impact,” whereas, “net zero emission is the
state of achieving balance between anthropogenic emission of greenhouse
gases and removal of such emissions from the atmosphere.”

There exists a robust connection between the two concepts :

(1) Green growth can help to reduce greenhouse gas emissions, which

is essential for achieving net zero emissions.

(2) Green growth can help to create jobs and boost economic growth,
which can help to make it more affordable for countries to invest in

net zero emissions technology.
A nation can do a lot to promote these two factors together, like :

(a) Investing in renewable energy sources which do not produce
greenhouse gases.

(b) Adopting energy efficient measures, such as insulation and other
such appliances which can help to reduce energy consumption.

(c) Altering transportation habits, like adopting walking, biking and
using public transportation as they are lower-carbon ways to travel.

On the basis of the given text and common understanding, answer the
following questions :

(i)  State the meaning of green growth and net zero emissions.

(ii) Discuss briefly the interconnection between green growth and net

Zero emissions.

(iii) Illustrate any one factor to promote net zero emission.
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